[EEF—FEFHREMRER] ICRICBEHOBHRE=2) &R (HM3F10A)

BIE BT HERS AERR BIZE B
(cm) (uSv/h)
100 0.04 6H
A-1 |5HETRI5E ES
50 0.05 68
100 0.05 58
B-1 |MAREEFE L 2 —fiHH
50 0.05 58
B-2 |MEALEFE LY 2 — 100 0.07 1H
B-3 |M@LESB LY & — 100 0.07 1H
. | B4 ENBEREL 42— 100 0.05 6H
E | B-5 |AEARE 100 0.04 6H
f’i B-6 |2518BXERFR 100 0.05 68
;@ B-7 |RkEERAT 100 0.05 68
H | B-8 |ERMEHEL 2 — 100 0.04 6H
N B-9 |fmBE=AT 100 0.04 68
B-10 [BENII 2 =F 4 Bt & — 100 0.04 6H
B-11 | \FIH L D#EERFT 100 0.04 68
B-12 |EIRERFT 100 0.05 66
B-13 | L)l s thE v 4 — 100 0.05 6H
% | C-1 |4kmEss 50 0.05 68
M1 [wmmes 50 0.05 68
B
%) C-3 | BR) I EEh 5 50 0.06 6H
B | c4 |mELy 2 —EHg 50 0.05 68
D-1 |ARRA/ NS 50 0.04 68
D-2 |#A/NEE: 50 0.05 6H
D-3 |4/ 50 0.04 68
D-4 |fmil/hEis 50 0.05 68
M| D5 | BN 50 0.05 6H
;: D-6 |dAm ke 50 0.05 68
| D-7 |[MaRshR 100 0.04 68
D-8 |#iArhZR 100 0.05 68
:; D-9 | ERr 100 0.05 68
D-10 |E—%h#E 50 0.05 6H
D-11 |0 sh R 50 0.04 5H
D-12 | 7= A X% HEE 50 0.05 5H
D-13 | B/ AITIFHTHE 50 0.06 50
D-14 | BEZF4hHEER 50 0.05 5H
E-1 |#RAERER 50 0.05 68
| | E-2 |[RARERM 50 0.04 68
B | E-3 |EMeRER 50 0.05 68
j E-4 |6 oaE 50 0.05 68
W | E-5 |=44RERE 50 0.06 68
| e |mrpam 50 0.05 68
E-7 [Bzebtra— 50 0.05 68
[ iz AN 50 0.04 6H
F-2 |BiEREmE 50 0.05 68
| F-3 |pEaE 50 0.05 68
F-4 | T4k RESE 50 0.04 68
F-5 |EmiiRiH 50 0.05 6H
F-6 |MAFEHLEAE 50 0.05 6H




[EEE—RFHESMEY] ICRIEAITOMSRE=2Y VY IHER (ST3FE4LA)

BIE BT HERS AERR BIZE B
(cm) (uSv/h)
100 0.05 28
A-1 |5HETRI5E ES
50 0.05 28
100 0.05 1H
B-1 |MAREEFE L 2 —fiHH
50 0.05 18
B-2 |MEALEFE LY 2 — 100 0.06 1H
B-3 |MB4EFE LY & — 100 0.07 1H
. | B4 ENBEREL 42— 100 0.05 28
E | B-5 |AEARE 100 0.03 28
f’i B-6 |2518BXERFR 100 0.04 28
;@ B-7 |RkEERAT 100 0.04 28
H | B-8 |ERMEHEL 2 — 100 0.04 28
N B-9 |fmBE=AT 100 0.04 28
B-10 [BENII 2 =F 4 Bt & — 100 0.05 28
B-11 | AFH _E#EERAT 100 0.03 2H
B-12 |EIRERFT 100 0.05 28
B-13 | L)l fiseiE > & — 100 0.05 28
g | C-1 |%eEBS 50 0.05 28
A e |wmmns 50 0.06 28
&
%) C-3 | BR) I EEh 5 50 0.06 2H
B | c4 |mELy 2 —EHg 50 0.04 28
D-1 |ARRA/ NS 50 0.04 28
D-2 |#A/NEE: 50 0.05 28
D-3 |4/ 50 0.04 28
D-4 |#RiB/INERL 50 0.05 28
| D-5 | BRI 50 0.04 28
;: D-6 |dAm ke 50 0.05 28
g | D-7 MMz 100 0.05 28
D-8 |#iArhZR 100 0.05 28
:; D-9 | ERr 100 0.06 28
D-10 |E—%h#E 50 0.04 28
D-11 |0 sh R 50 0.04 18
D-12 | 7= A X% HEE 50 0.05 18
D-13 |EZ - A X IZHTHER 50 0.07 18
D-14 | BEZF4hHEER 50 0.05 18
E-1 |MREMRER 50 0.06 28
g | B2 |WARER 50 0.06 28
B | E-3 |EMeRER 50 0.06 28
j E-4 |6 oaE 50 0.05 28
W | E-5 |=#EREE 50 0.05 28
# | e6 |maRmEe 50 0.05 28
E-7 [Bzebtra— 50 0.05 28
[ 2 /AN 50 0.05 28
F-2 |BiEREmE 50 0.06 28
| F-3 |pEaE 50 0.05 28
F-4 |FaERErEE 50 0.06 28
F-5 |EmiiRiH 50 0.05 28
F-6 |MAFEHLEAE 50 0.05 28




